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                                                                MATHS METHODS 3 & 4

                                                       TRIAL EXAMINATION 1

                                                                    SOLUTIONS
                                                                           2007
Question 1
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Question 3

a.
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b. 
[image: image14.wmf]f

f

r

d

=

-

1


Do a quick sketch of 
[image: image15.wmf]  

y

=

3

x

-

1

+

2


[image: image80.wmf]x

y

2

-2

3

2

p

-

3

p

-

3

2

p

3

p

3

,

-

-

p

3

,

-

p

3

-

6

p

-

6

5

p



[image: image16.wmf](

)

(

)

¥

=

¥

=

-

,

2

 

So

,

2

1

f

f

d

r


(1 mark)

Question 4
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(1 mark) – for knowing to use the chain rule

 and attempting to use it

(1 mark) – correct answer
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(1 mark) – for knowing to use the quotient rule

 and attempting to use it

(1 mark) – correct answer


Question 5

For 
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(1 mark) correct period
This means that for 
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x-intercepts 

Method 1
The graph is a sine graph with a period of 
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(1 mark) for x- intercepts
Method 2
The x- intercepts occurs when 
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(1 mark) for x- intercepts
y - intercept  
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   Angle measured clockwise because it is negative.
y-intercept occurs at 
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To find the endpoints:

Method 1

Because two complete periods occur for 
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Method 2
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Left endpoint is 
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Right endpoint is 
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The graph of 
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(1 mark)  correct shape including amplitude

Question 6
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Question 7

a. Since 
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Question 8

a. 
Note that at the points 
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Question 10
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The x-coordinate of the point where the normal hits the curve is 
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Question 11
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At the point of intersection of the graphs,
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The x-coordinate of the point of intersection is 
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